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1. Overall Description:

At RAN2#114e RAN2 discussed SL Relay issues that may have impacts on other working groups.
At RRC establishment or resume, UE indicates the establishment or resume cause for gNB to enable access control. RAN2 discussed how relay UE should set the cause value if the RRC connection establishment/resume is triggered only for relay purpose. The following two options were identified:
Option 1: define a new establishment/resume cause value that is used for all cases when a relay UE establish/resume an RRC connection due to a connection of remote UE;

Option 2: reuse existing establishment/resume cause values.



Question 1: Which option does CT1 prefer?

RAN2 assumes the access attempt from remote UE shall 
be under the UAC. RAN2 made following agreement regarding remote UE’s UAC:
Remote UE can reuse legacy access control and no need to enhance the access control procedure of Remote UE.
Question 2: Can CT1 confirm this agreement?
RAN2 has agreed RRC-CONNECTED relay UE would not perform UAC for remote UE’s data.

 However, there was no agreement in RAN2 whether the relay UE can skip UAC procedure when IDLE/INACTIVE Relay UE intends to access network only for the purpose of relaying but not for its own service. The majority of the companies prefer that Relay UE skips UAC check. The following two options were identified.
Option 1: Relay UE should skip UAC procedure

Option 2: Relay UE should perform UAC procedure
Question 3: When IDLE/INACTIVE Relay UE intends to access network only for the purpose of relaying but not for its own service, which option does CT1 prefer?
2. Actions:

To CT1

ACTION:
RAN2 kindly asks CT1 to provide feedbacks to the questions above.






3. Date of Next RAN2 Meetings:

TSG-RAN WG2#115-e
 
Aug 16th – 27th, 2021

Online meeting 

�[OPPO]: We think the LS should be sent to CT1 and cc other WG, since the UAC issue is in control of CT1, and no need for more than one WG to answer the question.





And can the proponent clarify why RAN3 is involved in the related issue(s)?


�I understand RAN3 may be related to cause value, since cause value is used by gNB to determine access control.


�[OPPO]: Prefer the original version since we have only discussed whether a new or old cause value should be used but never discuss the detailed solution.


�I tend to agree original version is clear enough


�I removed the deletion from addition proposed in Option 1, as this is important technical aspect


�[OPPO]: No need for RAN3


�I understand that RAN3 may be related to cause value, since cause value is used by gNB to determine access control.


�Could remove ‘also’ as it is confusing whether it is in addition to relay UE being under UAC which is not the case.


�Agree


�We wanted to understand if there was ever an explicit agreement to this extent or it just came out of Chair’s notes for the LS where he mentions “Indicate the existing agreement that the relay UE does not perform UAC for remote UE’s data”. 


We can just remove the sentence and remove ‘However’ and continue from there. 


�This sentence is captured in TR. In RAN2#113b, it’s agreed “Agreements from the SI phase are valid unless a decision is taken to revert them; RAN2 do not need to re-confirm each point individually.”


�


We don't think it's good to show RAN2's preference to avoid a hint. So shall we just give the options to CT1?


Option 1: Relay UE should perform UAC


Option 2: Relay UE can skip UAC


�The numbers reflect the RAN2 status on UAC, which is clearly captured in the scope. I suggest to keep it as a reference


�[OPPO]: We shoud use the original version, which is exactly the agreed scope of the offline discussion and directly reflect the status in RAN2


�Could be removed as only CT1 is in To:
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